%i%%ﬁ%ﬁ”&%%ﬁi 104 5 05 A 12 B1&5T

M¥E 500-1000 ~ BREY (L fyy)  1000-2000 ~
Z % 7(pip) # 2 F(pip)
i 150-520 = i 30-80 =~
£ 300-550 = - B 250-800 ~
HA AL 200-500 = s % 1200-3840 =
- AR 400-1200 =
? F Rk 2 R
e B 60-200 = X I ARG Ry 100-250 = /- = =
B2 R 200-300 = ISR 30-150 ~
§ AR 200-300 = ¢ 2 A 50-150 =/ ¢
¥ 379 3 300-1000 = ok r B e 15-20%
= RpLECR i* 100-300 ~/% | H#L3 e 15-20%
s AR (P i) #PE R
EES T i i 20 " gEY e R 500-1000 =
A S 300-1600 = e 60-130 =
B 600-3200 ~ e 600-2000 =
BB 5000-7000 = UEEY 40-100 =
R 4 200-350 = F= P (6 5) 40-200 =
Bz 150-300 = LNEL B 100-200 =
LRLE &% 1000-1700 = e L ETLEE FapL 300 &
R 5 1000-1700 = HA 12000-14000 =
S % 1000-1800 = R T 140-600 =
S 2500-6000 = R &g clhme 2 300~
X XY 200-500 = Ha1iei+ me=g 4 (Figd4- 320 ~)
dh @ Bp RELHE | 5000-8000 % FREAE AT
R L R | L ARy GreEwn) 0-200 ~
e R e 0-5 =
— Wy R 2 R ERE T (5 X | 0-200
¥4 ¥ %~ CTSMRI~ pARALE A2 o1
g r F (Ep) 60-250 ~ EFH)
Hrkw & <ie i 4e 20% AR kg (& 3%k T00M B
Py <ieff 4 15-259 | F B RFFE )
e 2 GF A e ~9200 =~ /3
BAST P ARE |STEERSE | Lg gl 00 -/
(% g4meng ) |FxIL2R i SR ENA s K EAcfeR
UL § - Rk B v 2 20%

w2 24 MA(Z &K ) 8,500-10,000 ~




ERFEFEMBNERER

104505 A 12 B 88T

FEREDRFRE

O

PEZRE (5% 1 B2 2% 1
THE1IBPs=2 1)
TIE o~ BRI R B
s R
FRikd bt (7R Y
¥ i?] heroin % morphine)

o

2000 = /= [FNETT
300 /= HIV & #
GOT ~ GPT ~ r~GT

3,200/80 % 4

600 = /=
ER S
a3

B A i 4 i ok
B Al 4 5 4ot
C ™ i 4 4ot
B i LR e B

300 ~/=x
240 ~/=x
170 =~ /=
160 ~
160 ~
250 ~
300 ~
20 ~/=x

104 £ 05 A 12 B 1837

(ir“!; ,r)gs‘a"v z %i-ﬂ’}a"aﬂ’ » A 1H .ﬁécl{f.ﬁ o 7 * )
I (50 A48 ) 1200 = S ITRE (2.5 ) 3000 + - A4 plEk (60 A 48) 1650 =
TR T A RBick T A B2 Ry RE
WA 200 ~ /= PR EISR S ERN I P T
SRR 800-1000 ~ /= AR H 160 =/ P
ERER 170 =~/ p
g 70 ~/p
4 ERyER (¢ ZEE
FomeR o RepFER
ANFEERY)
PFE
oot L 3 bt EE v %3 5 3000-9000 & | E T sH(A F) 5000-15000 = /=
9% ek % 6000-9000 = /= BT H(2%) 10000-30000 = /=
v ek g4 4000-6000 ~ /= % pedk K O%) 1500-2500 = /=
HEFHORT) 5000-6000 =~ /= B e i st i AR~ IR
L (LA 10000-20000 =~ /= PR BB HE L (RAF 4]~ EonE s 5
ECPER s W)
L (] ) 15000-25000 =~ /= P L b 15000-25000 ~/1CC
L (4 ) 30000 = /= HuE AP 15000-30000 ~/1CC
e (*» B i )24000-36000 ~ R (%% )30000-40000 ~
e R (% £ 7% )16000-24000 =~ SR (7h BB B R
36000-50000 =
e R (B P 28)20000-24000 =~ R ek 7 21% i 40000-50000 =
5 & 2% 40000-60000 ~ Ly B % 40000-50000 =~

ERFEEEBUERER




231

F3 40000-60000 ~ wEp A (B 550) 120000-160000 =~
(FPHEALHE)
B £ ae(H @ ) 50000-80000 ~ AR A (PN ARAL) 150000-200000 =~
f S5 Ep)  24000-36000 ~ s omde 4 (¢ st 4 ) 200000-300000 =
g e (G f ¥E)  24000-36000 ~ I A 200000-300000 ~
MALEL (T EEE ¢ )

e 3- £ i (a@-KRKE)

160000-190000 =~
gt = g (k@i s £12)

200000-300000 =~
gt £ e (55 0)

50000-70000 =~
R e+ e (A RPBEY)

200000-260000 =~

%3

1. mrdAp Pleyp o A EREIFNEFEE AAASZA > P REFRLTND
RAP2ZAGHE (FLAHERZ L HBdK) 7 FRE -

2. J‘J};%fé—f}i—b,&j&‘,;-ﬁ s AN EERRL T, 2 RAHIEP 2 EFL f‘”l’tP » 2E i iR
”ﬁl‘i‘ii?f R RS R

3. e} HARRL FRIE 0 RIFEL L F MR

4 REAF|Z 2L ri???J FP o ARMKE A RN TR ApERE 2 T
BARPFT 6L ERLH -

5. IRAFI RS E%&% SEABRREBEL S o

96 & 3% 19 p L § 0960003224*%"L.\Avi‘a\:T "Rk BT BEE L "—TELI?I*'UIEE'FF'UIEL?

Koo F AR ’?’ ]

96 = 10 % 4 p L 0 0960013341 L3 T R4 T A 8o 7 T B L Ry HE

97 & 10 » 30 P Fie Pﬁ v 0976400157 5L 3 37T WX £ &£ Fre P o mE 281 T4 FE=E 4L

37 TR e A EF

98 & 12 % 18 B fﬁmgi’i % 0986400238 5 357 TEM 4% KT TAF Y AR AR B KA
rﬂiv"%’ﬁ}% PE

Q&EGHQB&if4 0996400096 553 27" 7 fE5 %7 M dg P R B AR T om R AT
TEHF

99 & 11 7 3 p A #F F % 0990016524 L i3 3= "op frag WAL i

100 # 10 * 24 p P;’ﬁfﬁﬁﬁ%? % 1006400274 5L 337 T HeSkE P P E R R (2 FHEIRINE R ), 2 B3

REEREPF

101 # 17 17 p A fEF 3 5 1010001207 5Lan 37 T egp L 8 4e ~ e qr

101 & 12 » 18 p g fE® 3 % 1010025178 5L i3 = T4 40 B 4 2 R ft R

102 # 27 4 p 3t 3 % 1020002587 5L 2 T % g (FEH %),

103 # 10 # 17 p Frzfrd 3 % 1030023782 5L irag £ §§§J o i R .

103 # 12 7 17 p ez fF® 5 % 1030028828 5Lv > B3 TS 2% TR 19 Frd 2 HP % T
S FHW“’Fﬁ-‘1#7J£F@%*“#%ﬁN L EELOTA RS 2T FF R
e R4 -

104 =57 12 p Fr#ierd 5 % 1040010752 HLandfsm 2 ficimbesg £ 2 A4 WA7(Z B 7 ) °

*ﬁ*




